FALLBROOK CRL

EVO
FHEHLMBL/FHEHLSA & FHEHRMBL/FHEHRSA

Suggestged

Tools Required GLASS
i 3/16" [5] 5/16"-7/8" SCREW
| / [8-21.52]
0
o
] / 2
| a CH-4

1/4" (6] —‘-

1 GLASS PREP

Top of Glass

@la]

| EXCE= The screws are selected depen-
ding on the glass thickness

&
36.5[17/16'] ne> l
4"—” (D’\
[0 N

5/16" [8]+3/8"[10] M6 x 16
3/8"[10]+9/16" [13.52] M6 x 20
9/16"[13.52]1+11/16" [17.52]| M6 x 25

45[13/4"

11/16"[17.52] +7/8"[21.52] | M6 x 30

C.R. Laurence Co., Inc. | 2503 E. Vernon Ave., Los Angeles, CA 90058 | crlaurence.com

page 1




CRL

FALLBROOK

3 USING EVO WITH FALLBROOK & FALLBROOK XL NY

Number of shim gaskets

depending on glass thickness
and door frame system. \»

Please see detail sections.

3a USING EVO WITH FALLBROOK

Left hand Biloba EVO Frame Right hand
FHEHLMBL/FHEHLSA & FHEHRMBL/FHEHRSA
FHHN12 (835E10/11N & 835E10N SOL) FHHN12
A B
ifee [10 —
§ ON}E shim gas!<etd §
2 per hinge require 2
Biloba EVO Frame
FHHN12 FHEHLMBL/FHEHLSA & FHEHRMBL/FHEHRSA FHHN12
(835E10/11N & 835E10N SOL)
A B
[ 1. . 1
) [12 a1
2 O additional shim gasket require( 2
O O

3 b USING EVO WITH FALLBROOK XL NY

Right hand

Left hand Biloba EVO Frame
FXHHN

FXHHN FHEHLMBL/FHEHLSA & FHEHRMBL/FHEHRSA
835E10/11N & 835E10N

TWO shim gaskets
per hinge required

2503 E. Vernon Ave., Los Angeles, CA 90058 | crlaurence.com

C.R. Laurence Co., Inc. |

page 2



FALLBROOK

CRL

4 HOW TO ACTIVATE HYDRAULIC FUNCTION.

RIGHT HAND

LEFT HAND

If not aligned
do not insert!

4a ROTATE RIGHT TO ALIGN RIGHT & LEFT TO ALIGN LEFT

RIGHT HAND

LEFT HAND

4b TIGHTEN THE SCREW

RIGHT HAND

LEFT HAND !

C.R. Laurence Co., Inc.

| 2503 E. Vernon Ave., Los Angeles, CA 90058 | crlaurence.com

page 3




FALLBROOK

CRL

5 HOW TO ADJUST CLOSING SPEED

Sa CONTROL CLOSING RANGE 80°|160° TO 15°

FAST (+)

5 B CONTROL CLOSING RANGE 15° TO 0°

FAST (+)

@ /

@

SLOW (-)

~/

@

@

C.R. Laurence Co., Inc. | 2503 E. Vernon Ave., Los Angeles, CA 90058

crlaurence.com

page 4




